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. Atomic mass of calcium is 40. The mass of 2.5 gram atoms of calcium is
A) 40 g B)25g C) 100 g D) 80g

. The protecting power of lyophilic colloidal sol is expressed in terms of

A) Critical miscelle concentration B) Oxidation number

) Coagulation value D) Gold number

Which of the following weighs the most?

Ajone g-atom of N B) One mole of water

) One mole of sodium D) One molecule of HaS0,
. Bohr Model can explain

A) The spectrum of hydrogen atom only
B) Spectrum of an atom or ion containing one electron only
C) The spectrum of hydrogen molecule

D) The solar spectrum

. The protecting power of lyophilic colloidal sol is expressed in terms of
A) Critical miscelle concentration B) Oxidation number
C) Coagulation value D) Gold number

. In FE:(SD]}_;T the oxidation states of be; S and Crare
A)+2, +3.4 B) +3, +3, -2 C)+3, +6, -2 D) +2, +4, R

. The rate constant of first order reaction depends upon
A) Temperature B) Time .
) Concentration of the reactant D} Concentration of the product

. In a zero-order reaction for every 10° rise of temperature, the rate is doubled. If the
temperature is increased from 10°C to 100°C, the rate of the reaction will become

A) 64 times B) 128 times C) 256 times D) 512 umes

. A erystal having unit cell dimensionsa# b#c, a=y=90F[is
A) Cubic B) Tetragonal C) Monochnic 1) Orthorhombic

. The appearance of colour in solid alkali metal halides is generally due to
A) Schottky defect B) Frenkel defect
C) Interstitial position D) F-centres
. What 15 pH of a 0.00001 M HCI solution?
A) 1 B) 9 )5 D) 4

. What is the molarity of a solution that contains 1,50 mol HClin 2.50 L of solution?
A) L6TM B) 0.600 M C) L.20M _ Dy1L40M



13. The temperature of a body is 90°C. Its temperature in Fahrenheit is given by
A) 194 B) 124 C) 164 D) 194

I4, Which one of the following statement for order of reaction is not correct?

A} Order can be determined experimentally
B} Order of reaction is equal to sum of the powers of concentration terms in differential
rate law

1 It is not affected with the stoichiometric coefficient of the reactants
[} Order cannot be fractional

15. Consider the following equilibrium:

NI‘E? + 3]‘[2[5:. = ENHIWJ
What is the final result of adding some NH; gas to the system at constant velume?
A) Ky increases B) [Hz] decreases,
C) [NH;] decreases. C) Kig remains unchanged.

16. Physical adsorption is inversely proportional to the
A) Volume B) Temperature C) Concentration [3) Pressure
17. The phenomenon in which a compound exists in two or more crystalline forms is called
A) Isomorphism B) Polymorphism  C) Anisotropy D) Allotropy

18. Which of the following is charactenstic of adiabatic process
A)aU =0 B)g=0 Chyw=0 D)AP =0

19, What do increases in temperature tend to do to equilibrium systems?

A) Shift the reaction in favour of the exothermic process

B) Shift the reaction in favour of the endothermic process

C) Shifi the reaction to favour the side with fewer gas molecules
[2) Have no effect on an equilibrium system

20, Lyophilic sols

A) Are irreversible sols

B) Are less viscous than dispersion medium

(') Have more surface tension than dispersion medium
) Self-stabilizing

21. How much copper can be obtained from 100 g of copper sulphate (CuS04)?
A) 39.81 B) 45.5 C) 36.68 D) 67.43

22 A cvlinder s filled with a gaseous mixture containing equal masses of CO and Na. The
ratio of their partial pressure is

A) P(Nz) =P(CO) B) 0,875 P(N2) = M(CO)

C) 2 F(N;) = F(CO) D) ¥ P(Nz) = P(CO)
21, When iron is added 1o CuSo, solution, copper is precipitated, It is due 1o

A) Oxidation of Cu™ B) Reduction of Cu'*

C) Hydrolysis of CuS0y ) lonization of CuSOy
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24_For the reversible process, the value of AS is given by the expression

A) AH/AT B) T/geey Cl QX T D)gres/ T
25. For the reactions
A — B Ke=1
B — C E.=2
C — D Ke=3
K. for the reaction A+ D is
A) 5 B) 6 CY15 D)1

26, The equilibrium constant K, for the reaction

PCls(g) ++ PCly (g) + Cly(g) is 16
If the volume of the container is reduced to half of its onginal volume, the value of K, for
the reaction at the same temperature will be

A) 32 B) 64 C) 16 D) 4

27, Which of the following compounds will be formed, when lithium 15 heated with excess of
oxygen?

A) LizOq B) LiD, C) Liz0 D) Li0
28. Ammonia is dried over
A) Slaked Lime B) Calcium chloride
) Phosphorus pentoxide ) Quik lime
29, The species containing shortest 0-0 bond length is
A) Oy B) 0y €y 0" D)0y’
(), The dipole moment of vinyl chloride is lower than that of methyl chloride. This is due
A) Resonance effect B) Inductive effect -
) Electromeric effect D) Hyperconjugation effect

31. In hep arrangement, co-ordination number is
A) 6 B) 12 C) 8 D) 10

32, Osmotic pressure of a solution of benzoic acid dissolved in benzene is less than expected
because

A) Benzoic acid is an organic solute B) Benzene is non polar solvent

) Benzoic acid got dissociated in benzene D) Benzoic acid got associated m benzene
33. For zero order reaction, the plot of concentration Vs time is linear with

A) Positive slope and zero intercept B) Negative slope and zero intercept

C) Positive slope and nonzero intercept [¥) Negative slope and non zero intercept

34. Which of the following indicate the charges on colloidal particles?

A) Brownian movement B) Electrophoresis € Electrolysis DY) Tyndall effect
35. In silicates, silicon is '
A) sp’ hybridised B sp® hybridised  C) sp hybridised D) dsp® hybridised
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36. Phosphorus has oxidation state +3 in

A) Hypophosphorus acid B) Orthophosphoric acid
C) Phosphorus acid ) Metaphosphoric acid
37, Rust is
A) FeO + Fe(OH) ByFe:Oy + Fe(OH)y C) Fexs D) Feally + Fe{OH )+

38, Which af the following statement is not correct?

A) La(OH},, is less basic than Lu{CH s

B} In lanthanide series ionic radius of Lo'" ions decreases

() Lais actually an element of transition series rather than lanthanide series
D} Atomic radii of Zr and Hf are same because of lanthanide contraction

19, Methanol and ethanol can be distinguished by
A) Luca’s test B) lodoform test
C) Victormeyer's test D) All of these

40. Treatment of tartaric acid with fenton’s reagent gives, mainly

A) Pyruvic acid B) Maleic acid
C) Tartaric acid D) Dihydroxymaleic acid

41. How many grams of CH,OH must be added to water to prepare 150 mL of a solution
thatis 2.0 M CH;0H?
A) 9.6x10" B} 4.3x10° C)24 ) 9.6

42. What is the wavelength of light (nm) that has a frequency 4.62x10"s™?
A) 932 B) 649 C) 1.39x10* ) 1.54 %107

43, Using Bohr's equation for the energy levels of the electron in the hydrogen atom,
determine the energy (J) of an electron in the n= 4 |evel

A) =1.36x107" By —5.45x 107" ¢y —734=10" ) ~184x 107
44, An electron cannot have the quantum numbersn=, 1 =, M| =
A) 6, 1,0 B)3,2.3 123 D)1,0,0
45. Of the following, which gives the correct order for atomic radius for Mg, Na, P, 5 and Ar?
AYMg > Na > P = S > Ar BlAr > Bi > P > Na> Mg
C)Si> P > Ar > Na > Mg DYNa>Mg>=51>P > Ar
46, Which of the following has the largest second ionization energy?
A Si B) Mg C) Al ) MNa
47 A valid Lewis structure of cannot be drawn without violating the octet rule .,
A) NF, B} BeH, C) SO, D) CF,
48, The molecular geometry of the PF,” ion is
A} Octahedral B) Tetrahedral
) Trigonal pyramidal D) Trigonal planar
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Which of the following is a molecular hydnide?
A)CaH, By TiH, C) NaH D) CH,

Which one of the {ollowing compounds is peroxide?
A) Li.O B) H,0 C) Na,0, D) Cs0,

Chalcocite, chalcopyrite and malachite are sources of which metal?
A) Manganese B) Copper C) Iron D) Zine

Part of the Bayer process involves the digestion of crushed ore in concentrated aqueous
sodium hydroxide. This process carried out at high pressure

A) To prevent boiling

B) To prevent formation of iron hydroxide

() To prevent formation of aluminum hydroxide

3} To lower the boiling temperature of the mixture

The correct name for [NifNH, ), |(NO,), is

A) Hexaamminenickel (111} trinitrate B) Dinitrohexaamminenickelate (111
) Hexaamminenickel (11} nitrate ) Hexaamminenickel {I11) nitrate

. The complex [Zn(NH,),CL, ]P does not exhibit cis-trans isomerism. The geometry of

this complex must be
A} Tetrahedral B) Trigonal bipyramidal
C) Octahedral D) Square planar

. Which of the following is manufactured by the electrolysis of fused sodium chloride? |

A) NaOH B} NaClO C}Na D) NaClOy

On the addition of mineral acid to an aqueous solution of borax, the following compound
15 formed

A) Borodihydride B) Orthoboric acid ~ C) Metaboric acid ~ 13) Pyroboric acid

Quartz is a crystalline variety of
A) Silicon B) Silicon di oxide  C) Silicon carbide D) Sodium silicate

PCl; fumes in moist air because

A) It is highly volatile B) It is oxidized 10 POCly

C) It is hydrolysed forming HCl D) It decomposes to the elements

Sodium chloride when heated with cone, HS0y and solid KyCryOy grves:

A) Chromic chlonide B) Chromy! chloride

) Chromous chloride D) None

The most significant ion formed by the lanthanoids

A) M7 ByM M D) M
X-XuX
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